	RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Tohono O'odham Department of Human Services - FY 99 Family Assistance/ Child Welfare Modification #4; Adult Care Group Home Modification #4; and Children's Home Program Modification #5, Contract #1450CTH54T61071)					
	RESOLUTION NO. <u>99-490</u>					
1	WHEREAS,the Tohono O'odham Nation is presently operating the Department of Human					
2	Services-Division of Family Assistance/Child Welfare, Adult Care Group Home					
3	and Children's Home Program under PL 638 Master Contract with the Bureau					
4	of Indian Affairs; and					
5	WHEREAS, such tribal operations have been successful and beneficial for the Tohono					
6	O'odham Nation and its members; and					
7	WHEREAS, the Bureau of Indian Affairs has allocated additional welfare assistance grant					
8	monies in the amount of \$200,000.00 to meet the needs of the Family					
9	Assistance/Child Welfare Division, Adult Care Group Home and Children's					
10	Home Program.					
11	NOW, THEREFORE, BE IT RESOLVED:					
12	1. That the Tohono O'odham Legislative Council authorizes the expenditures					
13	of these funds according to the attached budget modifications for the					
14	following program:					
15	A. Family Assistance/Child Welfare \$178,580.00					
16	B. Adult Care Group Home 9,500.00					
17	C. Children's Home Program <u>11,920.00</u>					
18	TOTAL \$200,000.00					
19						
20	The foregoing Resolution was passed by the Tohono O'odham Council on the <u>15TH</u> , day of					
21 22	<u>SEPTEMBER, 1999</u> at a meeting at which a quorum was present with a vote of <u>2,165.5</u> FOR; <u>-0-</u>					
22	AGAINST <u>; -0-</u> NOT VOTING; and <u>[02]</u> ABSENT, pursuant to the powers vested in the Council by Section <u>1(f)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the					
23	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant					
25	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of					
26	June 18, 1934 (48 Stat. 984).					
27						
28						

	RESOLUTION NO. <u>99-490</u> Johono O'odham Department of Human Services - FY 99 Family Assistance/Child Welfare Jodification #4; Adult Care Group Home Modification #4; and Children's Home Program Jodification #5, Contract #1450CTH54T61071) age 2 of 3						
1		TOHONO O'ODHAM LEGISLATIVE COUNCIL					
2							
3		$\wedge$					
4		Den K					
5		Dennis Ramon, Legislative Chairman					
6		and a l					
7		22 day of September, 19 99					
8							
9							
10	ATTEST:						
11							
12 13							
	Autianna Savaficio Acting Logiclati	na Saavatarr					
15	gymanna Sarancio, Acting Legislau	araficio, Acting Legislative Secretary					
16	15 day of September	19 99					
17		,,					
18	Said Resolution was submitted for	approval to the office of the Chairman of the Tohono					
19	O'Odham Nation on the 22 Md	approval to the office of the Chairman of the Tohono day of <u>September</u> , 19 <u>99</u> at <u>4.58</u>					
20	o'clock, $\underline{P}$ .M., pursuant to the	provisions of Section 5 of Article VII of the Constitution					
21	and will become effective upon his approval or upon his failure to either approve or						
22	isapprove it within 48 hours of submittal.						
23							
24		TOHONO O'ODHAM LEGISLATIVE COUNCIL					
25		A ()					
26		Name Idam					
27		Dennis Ramon, Legislative Chairman					
28							
29							
30		n					
31	APPROVED	on the 27 day of toptender , 19 94					
32 33	X AFFROVED	Un the uny U1 preparation, 13					
33 34	[ ] DISAPPROVED	at <u>4:30</u> o'clock, <u>P</u> .M.					
35		the second of the second secon					
36							
37		Horry G. Lamon					
38		EDWARD D. MANUEL, Chairman					
39		TOHONO O'ODHAM NATION					
40							

# RESOLUTION NO. 99-490

(Tohono O'odham Department of Human Services - FY 99 Family Assistance/Child Welfare Modification #4; Adult Care Group Home Modification #4; and Children's Home Program Modification #5, Contract #1450CTH54T61071) Page 3 of 3

Returned to the Legislative Secretary on the 27 day of otember , 19 99, at 4:50 o'clock, \_\_.M. and the Julianna Saraficio, Acting Legislative Secretary 

## ACTION: TOHONO O'ODHAM DEPARTMENT OF HUMAN SERVICES - FY 99 FAMILY ASSISTANCE/CHILD WELFARE MODIFICATION #4; ADULT CARE GROUP HOME MODIFICATION #4; AND CHILDREN'S HOME PROGRAM MODIFICATION #5, CONTRACT #1450CTH54T61071

### MOVED: COUNCILWOMAN MARY ANN ANTONE

## SECOND: COUNCILWOMAN EVELYN JUAN

#### DATE: SEPTEMBER 15, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	x			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			x
SELLS 372.7	1. DENNIS E. JOSE	186.35	x			
	2. EVELYN JUAN ()	186.35	x			
SCHUK TOAK 133.4	1. MARY FLORES	66.7	x			
	2. AMBROSE ENCINAS	66.7	x			
SAN XAVIER 165.9	1. TONY BURRELL ()	82.95	х			
105.9	2. DENNIS RÁMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	х			X
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	х			
209.0	209.6 (Louis Johnson) 2. ALEX J. RAMON ( )	104.8	x			
PISINEMO 156.8	1 //	78.4	х			
150.0	2. JOHNSON JOSE	78.4	x			
SAN LUCY 128.1	1. ALBERT MANUEL, JR. ()	64.05	х			
120.1	2. GLORIA RAMIREZ	64.05	х	,		
GU VO	1. FERN SALCIDO	80.0	х			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	х			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	x			
158.1	(Sumey Sandos) 2. LLOYD FRANCISCO (Susan Sam)	79.05	X			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	x			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
	OTAL	2,165.5	2,165.5	-0-	-0-	[02]

**\*\*PASSED VOTES**